PHERXE ZXMRER BE2FMOHBRIER

FMSEE

S X B4 | SHEEY (SREEE IREYN | 6BEYR | ZEEXE
1 |BARFT+FHELEZER 3 1 0.3 1 1 1
2 |BARFTFHANEXZE 2 0 0 0 0 0
3 |BARFT+FHEHEX 3 0 0 0 0 0
4 [BARF+FHEFEIE 8 2 0.25 2 1 2
5 |BAK+FHIEREZE 4 1 0.25 1 1 1
6 |BARK+FrERRE R A 8 8 1 8 8 1
7 |BARFTFHEMEXE 6 8 1.3 8 4 2
8 |BAFTFHZERXH 4 0 0 0 0 0
SHAEE

S X B4 T8 SREEY (TREEEl IREYN | BB | ZEEXE
1 |BRFT+FHELRXZER 3 0 0 0 0 0
2 |BARF+FHANEZE 2 0 0 0 0 0
3 |BARFT+FHEHEX 3 0 0 0 0 0
4 |BARF+FHEFEE 8 6 0.75 6 6 1
5 |[BAXRF+FHIBEERXE 4 2 0.5 2 2 1
6 |BARK+FrERRE R XA 8 5 0.6 5 5 1
7 |BARFTFHEMEX 6 15 2.5 15 6 2.5
8 |BARF+FHZERXH 4 6 15 6 5 1.2




